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AEMRE L (WEL)EEHESE

(HliBh)
& W O 7 " =¥ LT 3
i T3
BE B & W & T 8Co%E ¢ 250 |10195-40 20.02 — 0.45 — 045 = 28.12
10194-10 4088 — 0.45 — 0.45 = 39.98
10193-20 3727 — 045 — 045 = 36.37
10046-20 36.01 — 045 — 045 = 35.11
10109-20 3201 — 045 — 045 = 31.11
10106-10 37.24 — 045 — 045 = 36.34
10196-30 39.85 — 045 — 045 = 38.95
10196-40 39.02 — 045 — 045 = 38.12
10196-10 39.93 — 045 — 045 = 39.03
2 = 323.13 m 323.13
( 0306 X 3.14 / 4 )—
A OEk BE M v BE| Con3l () (0250 X 314 / 4 )= 0.04 mi/m
0.04 X 323.13 = 1293 i nt 12.9

58




AEMRELWET)REHEE

()
PO B 7 =1 = BT 7
L= 3378 - 045 - 0.45 = 32.88
OB & LA Co® ¢ 250 ( 0.250 X 3.14 / 4 )X 32.88 = 6.45 ot 6.45
it CHER
BE & & W £ I BBCo% ¢ 250 |10135-30 16.22 — 045 — 045 = 1532
1756 — 045 — 0.45 = 16.66
3 = 31.98 m 31.98
( 0306 X 314 / 4 )—
2R BE M L EE| ConBl(CHM) (0250 X 314 / 4 )= 0.04 ni/m
0.04 X 31.98 = 128 i nt 1.3
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DAL HERE

(fiHiBh) (A A &)
filt il 1 = VA N1 g =
BAHERET | ¢ 150mm
2527 2526 2176 2077 2078 2228 2224
+2.00 +2.00 +2.00 +2.50 +2.50 +2.00 +5.00
2443 @ @ ® @ m
+5.00 +5.00 +5.00 +3.00 +3.00 = 39.00| 39.00
BfrEfE T 2531 2227-1 m
VP ¢ 150 +2.00 +2.00 = 4.00]  4.00
LSy T (fag=g S PE= 0.188 m WE=  0.150 m
(0.188% X /4 — 0.150% X x,/4) X  39.00
m3
= 0.393|  0.39
BATEAMARL  |F 2820 A2EE (REEH) ¢150mm L =4000mm
m
= 43.00| 43.00
VN
43. 00 = 4. 000 = 10.75]  11.0
~3mAE|2531 2527 2526 2176 2077 2078 2228 2227-1 = 8.0 8.0 f&AT
a~enkilil @ @ = 2.01 2.0 fHiph
S~12mATi| 2224 2443 ©) ® = 4.0 4.0 fEHPT
)L H VAHE ¢ 150mm
2531 2527 2526 2176 2077 2078
+1.00 +1.00 +1.00 +1.00 -+1.00 -+1.00
2228 2224 2227-1 2443 D T
+1.00 +1.00 +1.00 -+1.00 -+1.00 = 4.0 14.0
&) ® @
1.00  +1.00 +1.00
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BebH AR L KRR

(fiHiBh) ENET XD
i halll A = VA N+ o By =%
EREIKES $ 150mm 30°

2531 2527 2526 2176 2077 2078
+1.00 +1.00 +1.00 +1.00 +1.00 +1.00

2228 2224 2227-1 2443 @ &
+1.00 +1.00 +1.00 —+1.00 +41.00 = 14.0 14.0

) ® @
1.00  +1.00 +1.00

ZTa T — ¢ 150mm

25631 2627 2526 2176 2077 2078
+1.00 +1.00 +1.00 +1.00 +1.00 +1.00

2228 2224 2227-1 2443 O
+1.00 +1.00 +1.00 —+1.00 +1.00 = 14.0 14.0

B
=

@ ® @
1.00 +1.00 +1.00
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I EmERE R L BEEF

(t#5h) (A B A PT)
Fe hilll B = A N3 by 7
+T 2078 (i)
PEHI T 0% B B R B JEE= 2.50 m
AV R (0.60+ 2.49) + 2 = 1.50
SEXPREIG H 1.504+ 0.01940.100= 1.62
H —0. 040
0.900 X1.58 X2.50 = 3. 555
PefR BERRE  AME= 0.188 m
0.188 2 X x4 X 2. 50 = A0. 069
/INEE = 3. 486

2077 (i)
HES B ) ARG SEFE=  2.50 m

Y IR (0.60+ 2.70) =+ 2 = 1.60
SEHREIE H 1.60+ 0.019+0.100= 1.72
H -0. 040
0.900 X1.68 X2.50 = 3. 780
PR BERRE AME=  0.188 m
0.188 > X x4 X 2. 50 = A0. 069
/NEE = 3.711

2176 (ifiiE)
HES B ) ARG SEFE=  2.00 m

Y TR 0.60+ 2.71) = 2 = 1.70
SEHREIE H 1.70+ 0.019+0.100= 1.82
H -0. 040
0.900 X1.78 X2.00 = 3. 204
PR BERRE AME=  0.188 m
0.188 > X x4 X 2.00 = A0. 056
/INEE = 3. 148

2531 (i)
HES B ) ARG SEFE=  2.00 m

Y TR (0.60+ 2.53) =+ 2 = 1.60
SEHREIE H 1.60+ 0.019+0.100= 1.72
H -0. 040
0.900 X1.68 X2.00 = 3. 024
PERR PEERE  AME=  0.188 m
0.188 * X /4 X  2.00 = A0. 056
/INEE = 2. 968

62




DAL HERE

(fifiBh) (A
o U VPRI N
+T 2527 (@)
A T #E8 B S D JEE=  2.00 m
RIS SLESERYS (0.60+ 2.18) =+ 2 = 1.40
SEEPREIGE H 1.404 0.01940.100= 1.52
H -0. 040
0.900 X1.48 X2.00 = 2. 664
PERR  BERE SME= 0.188m
0.188 * X x4 X 2.00 = A0. 056
/NEE = 2. 608

2526  (rfiE)
0% B RS JEE= 2.00 m

SR I TR (0.60+ 1.98) = 2 = 1.30
SEHEENE H 1.30+ 0.019+0.100= 1.42
H -0. 040
0.900 X1.38 X2.00 = 2. 484
el MERRE A= 0.188 m
0.188 * X x4 X 2.00 = A0. 056
/INEE = 2. 428

2228  (ifiE)
08 B R ST JEE= 2.00 m

SR T TR (0.60+ 1.60) = 2 = 1.10
SEHEEIE H 1.10+ 0.019+0.100= 1.22
H -0. 040
0.900 X1.18 X2.00 = 2.124
el MERRE AME= 0.188 m
0.188 * X /4 X  2.00 = A0. 056
/INEE = 2. 068

2224 (@)
08 B RS JEE= 500 m

AR TS TR 0.60+ 1.67) = 2 = 1.10
SEEEENGE H 1.10+ 0.019+0.100= 1.22
H -0. 040
0.900 X1.18 X5.00 = 5. 310
PEBR MERRE AME= 0.188 m
0.188 * X /4 X 5. 00 = A0. 139
/NEF = 5.171
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BAHEMBRR L BEHEE
(fiHiBh) (R A& PIT)
i all " 2V -/ FF 4 _H
+T 2227-1  (ifi3#)
JEH T HEE FE ) A EE= 2.00 m
R TR (0.604+ 1.77) + 2 = 1.20
EEEENGE H 1.20+ 0.019+0. 100= 1.32
H -0. 040
0.900 X1.28 X2.00 = 2. 304
e BERRE  AME= 0.188 m
0.188 * X /4 X 2.00 = A0. 056
/INEE = 2.248
2443 (ifiiH)
08 B R ARG $ER= 5.00 m
SR IR (0.60+ 1.64) =+ 2 = 1.10
SEPREIE H 1. 10+ 0.019+0.100= 1.22
H -0. 040
0.900 X1.18 X5.00 = 5. 310
PR BERRE  #ME=  0.188 m
0.188 > X x4 X 5. 00 = A0. 139
/INEE = 5.171
2043 (ifiH)
08 B R ARG $ER= 5.00 m
Y TR (0.60+ 1.36) =+ 2 = 1.00
SEPREIE H 1.00+ 0.019+0.100= 1.12
H -0. 040
0.600 X1.08 X5.00 = 3. 240
PR BERRE AME=  0.188 m
0.188 > X x4 X 5. 00 = A0. 139
/INEE = 3.101
2042  (ifi#E)
08 B R ARG $ER= 5.00 m
Y TR (0.60+ 1.54) =+ 2 = 1.10
SEPREIE H 1. 10+ 0.019+0.100= 1.22
H -0. 040
0.600 X1.18 X5.00 = 3. 540
PERR PEERE  AME= 0.188 m
0.188 * X /4 X  5.00 = A0. 139
/INEE = 3.401
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Pox 2Ju >
B EMe R 2 L
i pall ] =\ A % 5
+T 1981 (i)
PRI T 23 I ERUEY SEE=  3.00 m
RIS SLESERYS (0.60+ 1.36) =+ 2 = 1.00
SEREIRE H 1.004+ 0.01940.100= 1.12
H -0. 040
0.600 X1.08 X3.00 = 1. 944
Pl BERRE /M= 0.188 m
0.188 > X x4 X 3.00 = A0. 083
SNEF = 1.861
1980  (ifiE)
08 B RS JEE= 3.00 m
A A JEC TR (0.60+ 1.54) =+ 2 = 1.10
SERPRENG H 1.10+ 0.01940.100= 1.22
H —0. 040
0.600 X1.18 X3.00 = 2.124
Peps BERRAE M= 0.188 m
0.188 2 X x4 X 3.00 = A0. 083
/NG = 2.041
m3
PRI T ET = 43. 411 43. 41
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D ER R L HE RS

(f#8h) (A WA
Fiit il A = SV NS o w =
+T 2078  (riiH)
HELT LN IR JEFE=  2.50 m
SERPREIE H = 1.62
SEHHERE LS H’ — (0. 377+0. 190) = 1.05
0.900  X1.05 X2.50 = 2.363
/NEE = 2.363 2.36
+T 2077  (iiHE)
HEL L L PN EFE= 2.50 m
SEHREIE H =1
SRR L H’ —(0.377+0. 190) = 1.15
0.900 X1.15 X2.50 = 2.588
/NEt = 2. 588 2.59
2176 (ifiH)
L PN ERE= 2.00 m
SEHPRENRE H = 1.82
SRR L H’ — (0.377+0. 190) = 1.25
0.900 X1.25 X2.00 = 2.250
/NEt = 2. 250 2.25

2531  (ffiH)

L PN ERE= 2.00 m
SEHREIGE H = 1.79
SRR L& H’ — (0.377+0. 190) = 1.15
0.900 X1.15 X2.00 = 2.070
/NEt = 2. 070 2.07
2527  (T1i8)
HES R ) ARG ERE= 2.00 m
SEPREE H = 1.52
SR L& H’ — (0. 37740. 190) =0.95
0.900 X0.95 X2.00 = 1.710
/R = 1.710 1.71
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Vi’ = NV = =Y WV wa
| B EARRE T R
(f#8h) (A AT PT)
fiit il A = SV NS o = =
+T 2526  (fiiH)
HELT L2 N IR EFE=  2.00 m
SERPREIE H = 1.42
SEHHERE LS H’ — (0. 377+0. 190) = 0.85
0.900 X0.85 X2.00 = 1. 530
m3
/NEE = 1. 530 1.53
2228  (ffiiH)
L PN ERE= 2.00 m
SEHPRENRE H = 1.22
SRR L H’ — (0.377+0. 190) = 0.65
0.900 X0.65 X2.00 = 1. 170
m3
/NEt = 1.170 1.17
2224  (ffiH)
Ly PN EFE= 5.00 m
SEHPRENE H 1. 22
SRR L H’ — (0.377+0. 190) = 0.65
0.900 X0.65 X5.00 = 2.925
m3
/NE = 2.925 2.93
2227-1 (fiiH)
L PN ERE= 2.00 m
SEHPRENE H 1. 22
SRR L& H’ — (0.377+0. 190) = 0.65
0.900 X0.65 X2.00 = 1. 170
m3
/NEt = 1.170 1.17
2443  (Thi8)
HES R ) ARG EFE= 5.00 m
SEPREE H 1.22
SR L& H’ — (0.37740. 190) = 0.65
0.900 X0.65 X5.00 = 2.925
m3
/R = 2.925 2.93
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A EMRE L BMEAEE

(fiH8h) (A% A T
Fe hilll 1 = SV N o By 7
+T 2043  (ifiiH)
HEL L L PN R EFE= 5.00 m
SEHPRENE H =1.12
SR L& H’ — (0. 377+0. 190) = 0.55
0.600 X0.55 X5.00 = 1. 650
m3
/NEE = 1. 650 1.65
2042 (&)
e N g SEE= 500 m
SEERHEIE T — 1 99
LR L E H’ — (0. 377+0. 190) = 0.65
0.600 X0.65 X5.00 = 1. 950
m3
/NEE = 1. 950 1.95
1981  (iE)
T N g SEE= 3.00 m
EYREE H = 1.12
SR L E H’ — (0. 377+0. 190) = 0.55
0.600 X0.55 X3.00 = 0. 990
m3
/NEE = 0.990 0. 99
1980 (&)
108 B B R AR SEE= 3.00 m
SEERHEIE H — 1 99
SR L E H’ — (0. 377+0. 190) = 0.65
0.600 X0.65 X3.00 = 1. 170
m3
/NEE = 1. 170 1.17
m3
HELTL i = 26.47| 26.47
+T m3
B vy T 43. 41 — 26.47  +0.9 = 14. 00| 14.00
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A EMRE L MEHEE

(f#8h) (A B A PT)
il all A = -/ Ft Py H_
+T 2527 2526 2176 2077 2078 2228 2224
BT 4+2.00 +2.00 +2.00 +2.50 +2.50 +2.00 +5.00
HHHLHE 2443 2043 2042 1981 1980
+5.00 +5.00 +5.00 +3.00 -+3.00 = 39. 00| 39.00
2531  2227-1
+2.00 +2.00 = 4. 00 4. 00
(1. 200 X 0.377 —0.165 *X 1 X1/4 )
X 43. 00 = 18. 534
m3
E = 18.534| 18.53
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A EMRE L MEAEE

(fifiBh) (R S AE &P
i bl =) 7\ /N F g o
T+ T
R R A REMEREL =2.0m 1. 30< EXHEITE=1. 80
2078 2077 2176 2527 2526
1.25  +1.25 +1.00 +1.00 +1.00
m
= 5.500(  5.50
+®8T
B4 SR T S B L. 30<"FHIIRHIE=1.8
2078 2077 2176 2527 2526
.25 +1.25 +1.00 +1.00 +1.00
m
= 5.500( 5.50
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D ER R L HE RS

(fiH8h) (A8 S AL F5 )
il il A =\ VA A o 28 =i
BRI U T | Sl T T AT 7L M t =15cm

A8 2228

2.00 X 2.0 + 0. 90 = 4.90

IfTE 2224

5. 00 X 2.0 + 0. 90 = 10. 90
B 2227-1
2. 00 X 2.0 + 0. 90 = 4. 90
B 2443
5. 00 X 2.0 + 0. 90 = 10. 90
B 2043
5. 00 X 2.0 + 0. 60 = 10. 60
B4 2042
5. 00 X 2.0 + 0. 60 = 10. 60
B4 1981
3.00 X 2.0 + 0. 60 = 6. 60
B4 1980
3.00 X 2.0 + 0. 60 = 6. 60
m
/NEF = 66. 00| 66. 00
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B EmREA L HEHEE

(f#8h) (A9 AR PT)
i il = =X - N B g 5
SHAEEGEE U L |8 2228
t=4cm  +8IER HtEiE= 0.90 m
(thiE)  0.90 X 2.00 = 1. 80

IAHE 2224

t=4dcm  THED HEEE= 0.90 m
(thiE)  0.90 X 5. 00 = 4. 50

HfH& 2227-1

t=4dcm  TEED SfEE= 0.90 m
(&) 0.90 X 2. 00 = 1. 80

A8 2443

t=4dcm  TEED SfEE= 0.90 m
(&)  0.90 X 5. 00 = 4. 50

A8 2043

t=4dcm  TBED SfEE= 0.60 m
(&)  0.60 X 5. 00 = 3. 00

A8 2042

t=4dcm  TEED HfEE= 0.60 m
(&)  0.60 X 5. 00 = 3. 00

Huf7E 1981

t=4dcm  TEED SfEE= 0.60 m
(&)  0.60 X 3. 00 = 1. 80

A8 1980

t=4cm  TBEES HigEiE=0.60 m
(&)  0.60 X 3. 00 = 1.80
m
JNE = 22.20( 22.20
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B AR A T A RE R

il all A = /N F g 5
AREEEEE L T
dvr—nyxy sk |BUE 2078
t=8cm  THED HEEE= 0.90 m
(thiE)  0.90 X 2. 50 = 2.95
B4 2077
t=8cm 55 HitEhE= 0.90 m
(&) 0.90 X 2. 50 = 2.25
B4 2176
t=8cm  TBE} SfEE= 0.90 m
(&) 0.90 X 2. 00 = 1. 80
B4 2531
t=8cm -5 E5 HitElE= 0.90 m
(&) 0.90 X 2. 00 = 1. 80
BfHE 2572
t=8cm 55 HitEiE= 0.90 m
(&)  0.90 X 2. 00 = 1. 80
BfHE 2526
t=8cm  TBE} SfEIE= 0.90 m
(&) 0.90 X 2. 00 = 1. 80
m
JNE = 11.70f 11.70
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B EmREA L HEHEE

(f78) (A T A & )
Fiil il B 2V AN w =
BHIEIUE L T |7 27 7)1 b
22.20 %0.04 = 0. 888
NEE = 0. 888
0.888  0.89 "
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B EmREA L HEHEE

(fifiBh) (A H AP
i all = =\ -/ Ft g 5
B L B
A8 1H 1 FET FEBRET A3 t=3cm
m2
22.20 +11.70 = 33.90 33.90
B4
BT RC-40 t=16cm (REEIEIET)
m2
= 22.20 22.20
BfriE
AT RC-40 t=15cm (REIEIET)
m2
= 11.70f 11.70
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B AT

REL BEAREE

(EH) WERR AR S (1 FT)
A Al =N z\ /I E E20 =28
U ERE T Fi%4 ¢ 150mm
2260 2257 2255 2615 2226 2229
4,00  +3.00 +5.00 +5.00 +5.00 “+2.00
2225 2401 2283 2276 2424
+5.00 +2.00 +5.00 +2.00 +3.00
m
= 41.00| 41.00
(kg S PE= 0.188 m W= 0.150 m
LAy T (0.188% X /4 — 0.150% X x/4) X 41. 00
m3
= 0.414 0.41
HfHE AR A O ZEE (BUHEH) ¢150mm L =4000mm
m
= 41.00| 41.00
VN
41. 00 = 4. 000 = 10. 25 11.0
~ 3mAST 2229 2401 2276 = 3.0l 3.0 fHAT
3~ bmA T 2260 2257 2424
= 3.0 3.0 fHEAT
5~12mA i 2255 2615 2226 = 5.0 5.0 f&AT
2225 2283
VX VEE $ 150mm
2260 2257 2255 2615 2226 2229
.00 +1.00 +1.00 +1.00 —+1.00 +1.00
2225 2401 2283 2276 2424
+1.00 +1.00 +1.00 —+1.00 +1.00
& T
= 11.0 11.0
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B EARRIER L BERAE
(M) WERR AR S (1 FT)
AHL hall B z\. A A 22y H
H1E & ¢ 150mm 30°
2260 2257 2255 2615 2226 2229
1. 00 +1.00 +1.00 +1.00 ++1.00 -+1.00
2225 2401 2283 2276 2424
+1.00 +1.00 +1.00 -+1.00 +1.00
&
= 11.0 11. 00
ZTRa T — ¢ 150mm
2260 2257 2255 2615 2226 2229
1. 00 +1.00 +1.00 +1.00 —+1.00 —+1.00
2225 2401 2283 2276
+1.00 +1.00 —+1.00 —+1.00
i
= 10.0 10. 00
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BT EMRR L HaEitEE
() B 25 A A5 15
i a1l H = VA N3 ey
+T 2260  (ifiH)
A T B8 AR AR EE=  4.00 m
R AR TR (0.60+ 2.31) + 2 = 1.50
SEERAIE H 1.50+ 0.01940.100= 1.62
H -0. 040
0.900 X1.58 X4.00 = 5. 688
PERR BERRE  AMEX=  0.188 m
0.188 * X /4 X 4. 00 = AO. 111
INEF = 5. 577
2257 (&)
58 Al R A fEE= 3.00 m
NS JERUS (0.60+ 2.39) — 2 =
SEERAIE H 1.50+ 0.01940. 100=
H -0. 040
0.900 X1.58 X3.00 = . 266
PR BERRE  AMEX= 0.188 m
0.188 * X x,/4 X 3. 00 = . 083
/NEE = . 183
+T 2255 (i)
PRI T HER Al R A $EE= 5.00 m
N SE-JERUS (0.60+ 2.80) — 2 =
SRR H 1.70+ 0.01940. 100=
H -0. 040
0.900 X1.78 X5.00 = .010
PR BERRE  AMEX= 0.188 m
0.188 * X x,/4 X 5. 00 = . 139
/NEE = . 871
+T 2615  (iiE)
PRI T HER Al A $EE= 5.00 m
N SEJERUS (0.60+ 1.39) — 2 =
SEERAIE H 1.00+ 0.01940. 100=
H -0. 040
0.600 X1.08 X5.00 = . 240
PEbR BERRE  4M%E= 0.188 m
0.188 * X x4 X 5. 00 = . 139
/B = . 101

78




BT EARR L HEiEE
(EH) WERR AR S (1 FT)
it a1l H = - N E By =
+T 2226  (iH)
A T 58 AR AR $EE= 5.00 m
ERE AR TR (0.60+ 1.80) + 2 = 1.20
SEERAIE H 1.20+ 0.01940.100= 1.32
H -0. 040
0.900 X1.28 X5.00 = 5. 760
PERR BERRE 4ME=  0.188 m
0.188 * X /4 X 5. 00 = A0. 139
INEF = 5.621
2229  (iiH)
58 Al A EE= 2.00 m
RISSEEGERYS (0.60+ 2.02) = 2 = 1.30
SEERAIE H 1.30+ 0.019+0. 100= 1.42
H -0. 040
0.900 X1.38 X2.00 = 2. 484
bR BERRE  AMEX= 0.188 m
0.188 “ X x4 X 2.00 = A0. 056
INEF = 2. 428
2225 (i)
HEE Tl R A $EE= 5.00 m
RISSEEGERYS (0.60+ 2.21) =+ 2 = 1.40
SEERAIE H 1.40+ 0.019+0.100= 1.52
H -0. 040
0.900 X1.48 X5.00 = 6. 660
PR BERRE  AMEX= 0.188 m
0.188 “ X /4 X 5. 00 = A0. 139
INEF = 6. 521
2401  (riH)
HER Al R A EE= 2.00 m
RISSEEGERYS (0.60+ 1.55) + 2 = 1.10
SEERAIE H 1.10+ 0.019+0. 100= 1.22
H -0. 040
0.900 X1.18 X2.00 = 2.124
PEbR BERRE  AMX=  0.188 m
0.188 * X x4 X 2.00 = A0. 056
/B = 2. 068
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HURT AT L WERRE

(EH) WERR A S (1 FT)
i il 1 = SV N o g &
+T 2283 (i)
A T HE8 Al R A SEE= 5.00 m
SR R (0.604+ 1.38) =+ 2 = 1.00
SEIPREIE H 1.00+ 0.019+0.100= 1.12
H -0. 040
0.600 X1.08 X5.00 = 3. 240
PEbR BERRE  AMX=  0.188 m
0.188 * X x4 X 5. 00 = A0. 139
/B = 3. 101
2276  (fiiH)
B8 BRI R AR JEE=  2.00 m
SR R (0.60+ 1.49) = 2 = 1.00
SEERAIE H 1.00+ 0.019+0. 100= 1.12
H -0. 040
0.600 X1.08 X2.00 = 1.296
el BERRE  AME=  0.188 m
0.188 “ X x4 X 2.00 = A0. 056
/B = 1. 240
2424  (TiiH)
RS ER I R AR SEE=  3.00 m
SR R (0.60+ 2.59) + 2 = 1.60
SEERAIE H 1.60+ 0.019+0. 100= 1.72
H -0. 040
0.900 X1.68 X3.00 = 4,536
el BERRE  AME=  0.188 m
0.188 * X x4 X 3. 00 = A0. 083
/B = 4. 453
m3
A T g = 46. 164 46.16
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5 RS T R EE
(HLH) S A T
& all = = - N P =
+T 2260  (fiH)
HEREL T (2956 PR UEY ER=  4.00
SEEREIGE H = 1.62
SR L& H’ — (0.377+0. 190) = 1.05
0.900 X1.05 X4.00 = 3. 780
m3
/INEE = 3. 780 3.78
2257 (i)
128 B Bl AR ER=  3.00
SEHREE H — 162
SR L& H’ — (0.377+0. 190) = 1.05
0.900 X1.05 X3.00 = 2. 835
m3
/INEE = 2. 835 2.84
2255  (TiiH)
0% B Bl AR ER=  5.00
SEHREIGE H — 1.892
SR L& H’ — (0.377+0. 190) =1.25
0.900 X1.25 X5.00 = 5. 625
m3
/INEE = 5. 625 5.63
2615 (fiH)
2% B Bl AR ER=  5.00
SEHREIE H —1.12
SEHHR LG H’ — (0.377+0. 190) = 0.55
0.600 X0.55 X5.00 = 1. 650
m3
/INEE = 1. 650 1.65
2226 (i)
H2% R Bl R AR EE= 5.00
SEHREIE — 1.32
YR L& H’ — (0. 377+0. 190) =0.75
0.900 X0.75 X5.00 = 3. 375
/NEt = 3. 375 3. 38
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5 RS T R EE
(HLH) S A T
& a1l = = - N P =
+T 2229  (iiH)
HEREL T (2356 PR UEY ER=  2.00
SEEREIGE H = 1.42
SR L& H’ — (0.377+0. 190) = 0.85
0.900 X0.85 X2.00 = 1.530
m3
/INEE = 1. 530 1.53
2225 (i)
2% B Bl AR ER=  5.00
SEHREIE H — 1.892
SR L& H’ — (0.377+0. 190) =1.25
0.900 X1.25 X5.00 = 5. 625
m3
/INEE = 5. 625 5.63
2401  (if1H) m3
0% B Bl AR ER=  2.00
SEHREIGE H — 1929
MR L& H’ — (0.377+0. 190) = 0.65
0.900 X0.65 X2.00 = 1. 170
/INEE = 1. 170 1.17
2283 (i)
2% B Bl AR ER=  5.00
SEHREGE —1.12
SEHHR LG H’ — (0.377+0. 190) = 0.55
m3
0.600 X0.55 X5.00 = 1. 650
/INEE = 1. 650 1.65
2276  (fiHE)
H2% R ] R AR EE=  2.00
SEHREIE — 112
YR L& H’ — (0. 377+0. 190) = 0.55
0.600 X0.55 X2.00 = 0. 660
/NEt = 0. 660 0. 66
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WA E Mg L HEHEE

(Em) JUE BR A 38 )
AH il = =\ /B g B
+T 2424 (1hH)
HEL L H2% R I R AR SEE=  3.00 m
SEHREIE = 1.72
PR LS H’ — (0. 377+0. 190) =1.15
0.900  X1.15 X3.00 = 3.105
m3
/et = 3.105 3. 11
HELTL 2 = 31.03| 31.03
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Par! =Ju > = = =i
BATEMREZ T BEetEE
(W) WERR AR S (& FT)
i bl H 2y - N F by =
+T
BT - U B O ARG
WHEL A 2260 2257 2255 2226 2229
4,00  +3.00 +5.00 +5.00 +2.00
2225 2401 2424
+5.00 +2.00 +3.00 = 29. 000
2615 2283 2276 m
+5.00 +5.00 +2.00 = 12. 000 41.00
o B Al ARG ‘
(0. 900 X 0.377 —0.165 *X © X1/4 )
X 29. 00 = 9. 220
E = 9. 220
o B Al ARG ‘
(0. 600 X 0.377 —0.165 *X 1 X1/4 )
X 12. 00 = 2. 458
m3
it = 2.458| 11.68
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P E M A L ERH

(EEAH) BEER A (5 FIT)
i hilll B = - N F w =
T T
HES B I R R RE L =2. 0m 1. 30 < HIHRHEIAE<1. 80
2260 2257 2226 2229 2424
2.00 +1.50 +2.50 +1.00 +1.50
m
8. 500 8. 50

R RAIE L =2.5m 1. 80 < EHIRHIE=2. 00

2255 2225

2.50  +2.50

m
= 5. 000 5. 00
+¥T
0% B A SR T SR L1 B 1. 30<"FHPrHIAE=1. 80
2260 2257 2226 2229 2424
2.00 +1.50 +2.50 +1.00 +1.50
= 8. 500 8. 50
TR T 1B 1. 80 < EHHRHIE=2. 00
2255 2225
2.50  +2.50
= 5. 000 5. 00
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I EmR A2 L REstEE

(FMm) WEERAE 5 7T)
ol "o K AN % B
EHEHUE U L |ShEEumr T A7 )V Mfi%E t =15cm
EUTE 2615
5. 00 X 2.0 + 0. 60 = 10. 60
IUTE 2226
5.00 X 2.0 + 0.90 = 10. 90
I 2229
2. 00 X 2.0 + 0.90 = 4. 90
Hf7s 2225
5.00 X 2.0 + 0.90 = 10. 90
I8 2401
2. 00 X 2.0 + 0.90 = 4. 90
Hf7a 2283
5.00 X 2.0 + 0. 60 = 10. 60
I 2276
2. 00 X 2.0 + 0. 60 = 4. 60
m
/NEE = 57.40| 57.40
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=Lk Wb EL2 L AE
B BT EMR R AL BERAEE ) )
(ELH) BEER A (5 FIT)
& all = = /7N by =
SHEEEUE U T |EEEEIROA T 7 A7 7L ME%E t =15cm
AT 2615
t=4cm  TBEEP % Efig= 0.60
(i) .60 X 00 = .00
BT 2226
t=4cm LR SitEiE= 0.90
(&) .90 X 5. 00 = .50
BT 2229
t=4cm  TEER SitEiE= 0.90
(&) .90 X 2. 00 = . 80
B 2225
t=4cm +BEE atttig = 0.90
(ThiE) .90 X 5. 00 = .50
BT 2401
t=4cm  TEER SitEiE= 0.90
(&) .90 X 2. 00 = . 80
BT 2283
t=4cm  TEER HitEiE= 0.60
(&) . 60 X 5. 00 = .00
BT 2276
t=4cm +BEE attiE = 0.60 m2
(&) . 60 X 2.00 = .20 19. 8
s p—nyxrrE| S 2260
t=4cm  TEER SitEiE= 0.90
(&) .90 X 4. 00 = . 60
Bt 2257
t=4cm LR SitEiE= 0.90
(&) .90 X 3. 00 = .70
Bt 2255
t=4cm +BEE atttig = 0.90
(TH38) .90 X 5. 00 = .50
W 2424
t=4cm T siEE= 0.90 m2
(&) .90 X 3. 00 = .70 13.5
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WA EMREZ L REEE

(E) EX A T FT)
T il B 2V - N F w 5=
SEIETIE | T |7 2 7 7 L R LER
19.80 x0.04 = 0. 792
Nt = 0.792
m3
0. 792 0.79
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WA EMREZ L REHEE

(HIH) LR AE [ T)
i hilll H = A A by =
N HufriE
RAEIH L FKET HABRET Aoy t=3cm
m?2
19. 80 +13.50 = 33.30] 33.30
HufriE
AT RC-40 t=16cm (REEFEIET)
m?2
= 19.80| 19.80
HufriE
AT RC-40 t=15cm (REEEEIET)
m?2
= 13.50] 13.50
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¢uw Q00

€w 600 = 200 X Wop00 X W OFLS
S B
€w 600 = 200 X Wwop00 X W 00°99
SE(FHY LT

(B S - Ty s ) T2 e B ) )

ENG

WGT=Y  EH YR LY L

BEat 5% -

(Fik)

ENG

WGT=Y  EH YR LY L

HRG T3k -

(HE8%)

FEHEFUL —4 AL

= B ¥ B ¥
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( M 3

VR VERR T FEHE

T &

4 W

X

HEAZ

e

BET
44 ) I

ASHi

M10084
6.40

M10150
6.40

m+

m+

M10085
6.40

M10149
6.40

M10087
6.40

M10143
6.40

M10269
6.40

M10142
6.40

M10062
6.40

M10136
6.40

64.0

B4R MR L

ASHR
t=15cmlL

M10084
1.78
M10150
1.78

m+

m+

M10085
1.78
M10149
1.78

M10087
1.78
M10143
1.78

M10269
1.78
M10142
1.78

M10062
1.78
M10136
1.78

17.80

M 3 W Hu B L

M10084
0.03

M10150
0.03

m+

m+

M10085
0.03

M10149
0.03

M10087
0.03

M10143
0.03

M10269
0.03

M10142
0.03

M10062
0.03

M10136
0.03

AS7H

M10084
0.07

M10150
0.07

m+

m+

M10085
0.07

M10149
0.07

M10087
0.07

M10143
0.07

M10269
0.07

M10142
0.07

M10062
0.07

M10136
0.07

C o3¢ & #ift - AL EH

Coi%

M10084
0.03

M10150
0.03

m+

m+

M10085
0.03

M10149
0.03

M10087
0.03

M10143
0.03

M10269
0.03

M10142
0.03

M10062
0.03

M10136
0.03

R

M10084
0.37

M10150
0.37

m+

m+

M10085
0.37

M10149
0.37

M10087
0.37

M10143
0.37

M10269
0.37

M10142
0.37

M10062
0.37

M10136
0.37

i}

il
-

M10084
0.03

M10150
0.03

m+

m+

M10085
0.03

M10149
0.03

m+

M10087
0.03

M10143
0.03

m+

M10269
0.03

M10142
0.03

m+

M10062
0.03

M10136
0.03

B o+ L &

m-( 0.30

m

0.9

FRAEBRLEET 21y (13)
t=3cm

M10084
2.07

M10150
2.07

m+

m+

M10085
2.07

M10149
2.07

m+

M10087
2.07

M10143
2.07

m+

M10269
2.07

M10142
2.07

m+

M10062
2.07

M10136
2.07

20.70

RC-40
t=16cm

M10084
1.92
M10150
1.92

m+

m+

M10085
1.92
M10149
1.92

M10087
1.92
M10143
1.92

M10269
1.92
M10142
1.92

M10062
1.92
M10136
1.92

19.20

R MMl

M10084
1.92
M10150
1.92

m+

m+

M10085
1.92
M10149
1.92

m+

M10087
1.92
M10143
1.92

m+

M10269
1.92
M10142
1.92

m+

M10062
1.92
M10136
1.92

15.36
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VR VERR T FEHE

( f_ By )
T f& % H = ok | B RS
VN EERET M10084 M10085 M10087 M10269 M10062
Uk VEMET 15K 1 &+ 1 &+ 1 &+ 1 T L e[ 10 | &7
M10150 M10149 M10143 M10142 M10142
1 fEr+ 1 &+ 1 &+ IS 1t
(FH#2Y > 7't=100mm)
R VIR T 7Bk M10084 M10085 M10087 M10269 M10062
1.00 f#fr+ 1.00 f&FF+ 1.00 &+ 1.00 f&FF  1.00 f@pr| 10 | &PT
M10150 M10149 M10143 M10142 M10142
1.00 fFr+  1.00 fFr+  1.00 i+ 1.00 f5FF  1.00 @in
M10084 M10085 M10087 M10269 M10062
A7 (KT 80.0 kg+ 80.0 kg+ 80.0 kgt 80 kg 80 kg
M10150 M10149 M10143 M10142 M10142
80.0 kgt 80.0 kgt 80.0 kgt 80 kg 80 kg | 0.80 | t
= 800 ke

92




< R VERUR T BERAE

1 & AT 24720
E4 P B s AL | %K s i L2
eSSy T AT 7V m 6.40 1.6%4
fESYe T AT 7Lk nt 1.78 (1.6°2-(1.0%3.14/4))
(1053 1470 83 T47 D)%0.15%
ColtiEL a2 7)—h m 0.03 ((0.82%3.14/4)-(0.66+#3.14/4))*0.05
Asis e - JLHL T AT 7IVh m 0.07 1.78%0.04
Cos i - AL P a7 —h m 0.03
1 Hil + W m 0.37 1.78%0.21
HOR L + i 0.03 (1.672—(0.82%3.14/4))%0.06
FAEBRIET A2 (13)
FET t=3cm nf 2.07 (1.62-(0.62:3.14/4))
AT RC-40 t=16cm ot 1.92 (1.6°2—(0.82%3.14/4))
N e nt 1.92
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v IR VERUR L BERHAEE

1P 70
v g i s BT by i+ 15 i
2 R IVEMET | o — A ERET | EPT 1.0
27597 ($5<T) kg 80.0
wUR—VERE T | v h— VERELL | & 1.0

15K Vo7 i -

15K Vo7 t=50mm| &7 —

VK V74 t=100mn| & AT 1.0

V5K Vo7 t=150mn| %P —

Tk Vs st | GE AT -
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cul

G0°0 Y
guw 600 = 200 X woop0 0 X W 00'F9 WGT=Y  EH YR LY L
128 AT B
FRLF 3K -

(HE8%)

(TS EH S — 1) FEHEFWNE, —L AL

= B ¥ B ¥
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HREBRPILERE B R R
(HiB))
T & Mo | B He R o
% B & g3 | i 1
Z B i & Zdx il i 14
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FRERPILHHRE HEREFH R
()
T & Mo | K R %
#z B i & g3 =5 T 0
Z B i & Zdx il R 3
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